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pu | owma | Rawe| EME %if 20-21 18 A THER |20-21-28 A THER
1 Wt = 10 200 108 92
2 2T = 10 115 60 55
3 Fig = 10 97 63 34
4 W = 10 94 45 49
5 gk = 10 87 44 43
6 =IE ST = 9 73 34 39
7 Tt = 9 70 30 40
8 FKIEIT = 9 65 27 38
9 J = 9 62 40 22
10 B4k & = 9 61 30 31
11 Jiti P 7 = 8 60 28 32
12 HX = 8 60 27 33
13 FE = 8 59 24 35
14 il = 8 58 24 34
15 P& = 7 57 28 29
16 PR = 7 56 24 32
17 R = 7 56 32 24
18 2T = 7 53 9 44
19 ERE = 7 50 26 24
20 ER B 6 50 28 22
21 AN = 6 48 40 8
22 SA % = 6 47 16 31
23 s = 6 44 24 20
24 JE T = 6 44 22 22
25 J7 R = 5 40 16 24
26 (AR R = 5 39 19 20
27 2N = 5 39 17 22
28 KIS = 5 35 33 2
29 JE ARG = 5 33 2 31
30 Bt = 4 32 16 16
31 X = 4 28 14 14
32 Jiti— &1 & 4 26 11 15
33 ESE = 4 9 2 7
34 W ik = 4 8 0 8
35 FRF = 3 6 2 4
36 LR Tpa = 3 6 0 6
37 B [ = 3 5 0 5
38 EiPin = 3 4 2 2
39 BN = 2 4 0 4
40 XU = 2 4 2 2
41 25l = 0 0 0 0
42 Pri5 el = 0 0 0 0
43 K5 = 0 0 0 0
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